Math 321- Spring 2015 - Examl
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Instructor: Dr. Francesco Strazzullo Name
Instructions. Technology and notes (including the formula sheets from our book) are allowed on this exam.
Each problem is worth 10 points. If you use notes or formula sheets, make a reference. When using
technology describe which commands (or keys typed) you used or print out your worksheet.

1. Let f(z) be a twice differentiable function on the 1ntervai [—2,4] such that f(-2) =3, f/(-2)=—
f(4) =3, and f/(4) = —1. Determine the value of f zf"(z) de.
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2. During one year the average daily temperature in Waleska varies with a rate given by the model
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Celsius degrees per day, with ¢t = 1 corresponding to January the 1%¢. If February the 15 and June the
1% are respectively day 32 and day 153, what is the temperature variation between these two days?
(You can use technology for the computation, but first show the setup)
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3. Show the substitution method to find the indefinite integral f ze® + gy
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4. Show the integration by parts method to find the indefinite integral / T costdr.
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5. Use Simpson’s Rule with n = 4 to approximate the integral ] sin? (2—) de.
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6. Compute the most general antiderivative F(z) of f{(z} = zIn{z), then the particular antiderivative

satisfying the initial condition F(1) =2
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7. A particle moves with velocity function
v(f) = ~0.042% + 0.482% — 1.08z

feet per second. Compute both the displacement and the total distance covered in 20 seconds.
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8. Use the partial fractions decomposition method to compute
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9. Compute the improper integral [ ze @ Tdg,
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